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FACULTY OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.Sc./B.Com./B.B.M./B.B.A. (I-Year) Examination
COMMUNICATION SKILLS
Paper-I
Time: 3 Hours] [Max. Marks: 100

Answer any four questions
(Marks: 4 x 25 = 100)

1. Discuss about the theme of P.Satyavathi’s lesson “WHAT IS MY NAME”.

2. Describe Pochamma’s reaction to her goddess upon Rajanna’s death.

3. What does the narrator think about the old age in *“The Woodrose’?

4. How does the poet M.Vimala remember the kitchen in her childhood days?

5. Why did Yanadi Kotadu protect the villagers? What did he get in return from them?
6. Summarize the contributions of the Adivasis to human civilization in different ways.

7. What are the main images presented in the poem ‘Hunger’ to express the idea of the
poet Jayanta Mahapatra?

8. Why were the people of Malgudi jubilant? Why did they want to restore the statue?
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FACULTY OF ARTS/SCIENCE/SOCIAL SCIENCE/COMMERCE

B.A./B.Sc./B.Com./B.B.M./B.B.A. (I- Year) Examination
TELUGU

Paper-I
(Second Language)
Time: 3 Hours] [Max.Marks:100

& (80d (BHos® IV TQod8 Jdrgraren Teahod.
(Sr8en ¢ 4x25=100)

1. © B ééé@oﬁ:tﬁé% S0P $Y) FPotd &

FTYJ[C 2o e JoFdng Sid 3§ GRS

Krden SR DB S B Sl Sndod, D

TR &% AT Fend 5By Ko 2OE0BO0B

s Derg8 B8y FE)Kso oechod.

2. EHode H{;eHIH w2% (56& @’aa’S‘sr;"S& 00D Tocdhol.
3. & Sty weg@&e::é: SQosod.
4, DendH ol $od) BodHhod B5ZeA ‘o’aééoi’):é Q) DBdoHol.
5. 8%&,‘5_% Tiobho &0 hderis ©LIEAD TP Qgﬁqoiso&.
6. BT JXEY) DFrEE $ZoD 885 DBBoBA.

7. w8 SHen S50’ YBEDS e Bowogred ool

8. S8, S0, ©FB, TEWEIN, nodoty Srred LB, Bod Db 3O
B0 Trahol.
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FACULTY OF ARTS/SCIENCE/SOCIAL SCIENCE/COMMERCE
B.A./B.Sc./B.Com./B.B.M./B.B.A. (I-Year) Examination

HINDI
Paper-I
(Second Language)
Time: 3 Hours] [Max.Marks: 100
fregl a1 (5)92AT &I 3cal S1av| 5x20=100

fRegl arer (5)92=T T el ST 5x20=100

1. F%eT gl &I arRer i@
2. 99K &< s Fr fawar faf@u)
3. {ATY 9T6 T TR 9 Ut # Qv
4. | 3R BN 918 9 gerer s
5. @l & 3HJHR Seot faf@u
adresd M amar g (ol sga &t faf@v)
b.ITHT Fell WA & (T9 deof I fafAT)
cUs ¥ &l X ST § ( R & a1 faf@w)
d.F ST @1 § (O e # @)
e {FY T AL AT SATA( are Feera i)
6.95& FfaT
ATATT H FATAAT FH AT gl
b.HA & A @
c.3H & Yeal R @I &
d.ATerdr e amar §1
e B H S9IE AT ATl

7. @F faf@a sl &t aert & g3 ffaw
a)d, b). BRI, )3, d). 81, e) 9

8.f7w7 QT yeam@AT &1 AT # faf@u)
a)IT&Y, b)USHIR, o)FAH!, d)I¥H, eRSAIT
9. T faf@a eeel & wicufaede & g a7 f@v|
a) UHAEAR, b)Theh, o)9diaror, d)fAead, e)f@eer
10. foramefier & AT 9 AlRY ST Hdea g7 Af@w]
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FACULTIES OF ARTS/SCIENCE/COMMERCE/SOCIAL SCIENCES
B.A./B.Sc./B.Com./B.B.M./B.B.A. (I Year) Examination
SANSKRIT
Paper I
(Second Language)

Time: 3 Hours] [Max. Marks: 100

Answer any five questions.
(Marks : 5 x 20 = 100)

1. RIS TA yoHT et fogupa |
2. fogeliaa: sfi ureass wr foraa |
3, qUYE Ufd Sfee™d geFT Juiad |
4, “‘sgamen’ gfd weww wR foed |
5. USETRA Fal fgsiushid foweed |
6. Farssiiad AT for@d |
7. 'aIge wmeR:’ 3fd e foea |
8. rquiqan el foed |

(@) (b) @Y
9. JuIexT Wi HETE fored |
10. FFqUiqRT Tea&aTvl for@d |
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FACULTY OF COMMERCE BUSINESS MANAGEMENT
B.Com. (I-Year) Examination
(Computers)
INTRODUCTION TO COMPUTER SYSTEMS
Paper-I
Time: 3 Hours) (Max. Marks:70

Answer any FOUR questions including Question No.1 (Marks: 4 x 17%2 =70)

1 Attempt any Two Questions in short form.

a) Block diagram of computer
b) Utility software
c) Statistical functions
d) Corporate culture shock
e) Higher level language
2  How the computer works on multipurpose tool? Discuss.

3 What factors are the affecting the speed of CPUs used in personal computers?
Explain.

4 Explain the advanced word processing features.

5 How do you create a professional memo? Discuss.

6 “Spread sheet is a tool for working with numbers”. - Comment.

7  Explain about ‘what-if* analysis.
8 Describe the terms: Internet, Intranet and Extranet.

9 What is a computer crime? How do you overcome the computer crimes?

10 Write a note on multimedia presentation.

*k*k
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (I-Year) Examination

Paper-II
Financial Accounting - I
(Regular & Computers)

Time: 3 Hrs.] [Max. Marks: 100]

Attempt any FOUR questions including Q.No. 1: (Marks: 4 x 25 =100)

8 Attempt any TWO questions from the following in short form:

a Write the differences between Book Keeping and Accounting.

b. Explain the need for the preparation of Bank Reconciliation Statement.

c Distinguish between Receipts & Payments A/c and Income & Expenditure
Alc.

d. X and Y enter into a joint venture and keep separate set of books. What
entries are made in their books for (i) Joint bank account opened by X
contributing Rs. 50,000 and Y contributing Rs. 30,000 (ii) Amount paid
from joint bank account Rs. 15,000 (iii) Expenses paid by X Rs. 5,000 (iv)
Commission Due to Y Rs. 3,000.

e. An asset is purchased for Rs. 1,00,000. Depreciation is to be provided
annually according to straight line method. The life of the asset is 10 years
and the residual value is Rs. 20,000. You are required to find out the
annual amount of depreciation and the rate of depreciation.

2. Define Financial Accounting. Write the advantages and limitations of
Financial Accounting.

3. What are Subsidiary Books? Explain each of them in detail.

i Explain Bank Reconciliation Statement. Write the reasons for the
differences between Cash Book balance and Pass Book balance.

5, Prepare a Bank Reconciliation Statement as on 31%t December, 2018 from
the following particulars:

i) Balance as per pass book Rs. 25,000 (Overdraft).

ii) Interest on investment collected by bank Rs. 750.

iii)  Bank has paid Rs. 500 towards insurance premium and was not
entered in cash book.

iv)  Cheque received, entered in cash book but not sent to bank for
collection Rs, 1,000.

v) A wrong debit of Rs. 600 is appearing in pass book.

6. Define Non-trading concern. Write its features and explain the procedure
of preparing Receipts and Payments Account.

7. From the following Trial balance of Sri Harsha, prepare Trading and Profit

and Loss Account for the year ended 31% December, 2018 and a Balance
Sheet as on that date after giving effect to the adjustments given:



8.

10.

Trial Balance on 31-12-2018 e S 7—-C=>7-| =

Debit Balances Rs. Credit Balances Rs.
Purchases 34,96,000 Capital 2,00,000
Bank 7,500  Bills payable 50,000
Salaries 21,000 Loan 1,00,000
Carriage on sales 2,500 Sales 36,00,000
Carriage on purchases 2,000  Discount 2,000
Lighting 1,500 Commission 500
Buildings 1,35,000 Sundry creditors 1,00,000
Rates & Taxes 2,000
Debtors 40,000
Furniture 30,000
Cash in hand 1,250
Bills receivable 7,500
Stock on 31-12-2018 3,06,250

40,52,500 40,52,500
Adjustments:

a) Rates have been prepaid to the extent of Rs. 600.

b) Write off bad debts amounting to Rs. 2,500.

c) A provision of 5% has to be made on debtors.

d) Buildings have to be depreciated at 2% and Furniture at 10%.

e) Goods purchased on credit taken into stock but not recorded in the

books Rs. 5,000.

Define Joint Venture. Write its features. Write the differences between
Joint Venture and Consignment.
Usha limited sent 100 sewing machines on consignment basis to X. The cost
of each machine was Rs. 3,000, but the consignor prepared the proforma
invoice at 25% above the cost. The company spent Rs. 8,000 on packing.
While taking delivery of the machines, X had to spend Rs. 9,500 as freight,
octroi and cartage. By the end of the year X sold 80 machines @ Rs. 4,100
per machine. He paid Rs. 11,000 as godown rent. He was entitled to a
commission of 5% on sales. Prepare consignment account and X’s account.
What is Reserve fund? Explain different types of Provisions and Reserves.
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TELUGU VERSION
Q.No. 1 & 23 P Trenrh ©F) O LAY otod. : (Brdd)en: 4 x 25 = 100)
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FACULTY OF COMMERCE BUSINESS MANAGEMENT
B.Com. (I-Year) Examination
INDUSTRIAL ORGANIZATION AND MANAGEMENT
Paper-111
(Regular and Computers)

Time: 3 Hours) (Max. Marks:100

10

Answer any FOUR questions including Question No.1 (Marks: 4x25 =100)

Attempt any Two Questions in short form
a) State the various types of industries.
AV B5°0 HOFr0D K80 BewHok.

b) What are the objectives of public sector?
(BabSgoK0 ¥y, Bgesren A>e3?

c) What is Globalization?
(PPOREGE? STIA?

d) Stat the importance of Management.
QEIeer o), @“@cﬁgéfb BeoNod.

e) Define planning
(PE°PE TBHA ALO)=500.

What is Business? Explain the different forms of organization.
TFITO OJTIH? T§ro) AEZFoHEE” Ko IV VoPO AP SOOI,

What do you mean by Sole Proprietorship? Discuss its advantages and
disadvantages.

oS FEIB0 K00 EL BOOD. T DY) (PETETO S8 O
X800 iiaz)oﬁo&.

Discuss the factors which determine or limit the size of business units.
J"sﬁ"é NS OITETR) &’)gooooii B HBWS0 T B0 K809 zﬁ@Joéo&.

What is Optimum firm? What are the features of Optimum firm?
DORBALFOT V0 OITIWD? DORBADL HOP B, VFFTOL BLIYI®.
What is industrialization? Discuss the factors influencing the industrialization of

a country.
T FWISCE OITRW? 28 BY FOFWISTER (Herdso T woToD $0)0s0d.

What are the various sources of long term finance for Indian Industries?
OS BF H0F00DH BT I& DETD Ko IV 5570 &roren JS?
Define management. Describe the functions of Management in Modern
Company.

DIEH0EY BFNoPI0. 2.8 &GOS Ko ook, JIFI0E Ao Yoy,
Explain the different approaches to Management.

QETESH Ko I DTS SEen0l K80 580508,

What are the differences between Power and authority?
©RSTI0 DO ¥ § gy Ko Bares ADe?

*k*k
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FACULTY OF COMMERCE AND BUSINESS MANAGEMENT
B.Com. (I-Year) Examination
Paper-1V
QUANTITATIVE TECHNIQUES - |

(Regular & Computers)
Time: 3 Hours] [Max. Marks: 100

Answer any FOUR questions. Including Q.No.1 (Marks 4 X 25 = 100)

1. Attempt any TWO questions in short-form
a) Explain the importance of statistics
$E5°08 FR) FEPIBRD DBOO)S.
b) Explain characteristics of measures of central tendancy
Sogarsd Sose OFEred DIDOYIW.

c) From the data given below, calculate Arithmetic Mean:
88 808 5E0B0 eSO WOSKNLIENRN SB0FPOD.

Family / A B C D E F G H | J
EEN0D0

Income: (Rs.)/ | 80 | 70 | 73 40 23 65| 34 | 12 36 100
SN0 BF.

d) Calculate the Co-efficient of Range
TR (VIS0 SFRKD.

Marks/ &8¢0 40 60 50 45 36 90
e) If the 14" term of an Arithmetic Progression is 6 and 6™ term is 14, find 95™ term
14 3 0830635 PBA® 6, DAW WY 14 85 95 HBO D0B?

Define Business Statistics. Explain its merits and demerits.
TGS (56508 PRy DS5DOD, TR HATET0 DA SBIeen Sew.

What is Primary Data? How it is collected?
OIS BER0FO OITIN? WO e VEOR)?

4.  Compute the Geometric Mean from the following data:
88 808 5e0B0 K0 (EREIFRVX0 SBOFPRRW.

Marks / S»syeo | 0 -10 | 10 -20 | 20 -30 30 -40 | 40 -50

No. of Students / 6 8 20 28 9
8)(,3"5(3(%8) Doag

5. Calculate the Co- efficient of Mean Deviation from the following data:
88 808 5080 DO 0G5 DWOD (EFSOKD SBOFPLRW.

Marks / cﬁovd)&e)a 5 10 15 20 25

No. of Students / 8 9 4 7 3
8)(,3"5(3(%8) Doag

Contd..2..



6. Calculate Bowley’s Co-efficient of Skewness from the following data:
88 808 5e0B0 K00k '8 SR (eSO SXFPRHW.

6264/21

Profit (Rs.in lakhs)/ | 0 -10 |10 -20| 20 -30 | 30 -40 | 40 -50 |50-60
ergren 5. o8t

No. of Companies / 4 11 10 14 5 3
goadeo Hoay

7. Calculate Standard Deviation and its Co-efficient of Variation from the following data:

&8 808 BS&R0F0 0G FPATERE DWIOD (EFSO EX0HRVIW.

Marks / &oen | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 |60-70
No. of Students / 6 8 9 4 6 5 2
8)(,3"6(3(%@) Doag
8. Compute Karl Pearson’s Co-efficient of Skewness from the following data:
88 808 (5e2080 N0 50 HANDID FaNg (eSO SHEXW.
Age / 50500 0-6 6-12 12- 18 18- 24 24-30 | 30-36
No. of persons/ 10 12 30 34 38 20
IO D0oaK
9. Explain Inverse of matrix
DL HPBE K10 DHOOLDI.
2 3 4 1 3 0
10. IfA= (1 2 3 B=[-1 2 1]|Compute AB and BA
3 2 -2 0 0 2
2 3 4 1 3 0
A= |1 2 3 B=|-1 2 1|3 AB doocdw BA @é’ﬁ&ozﬁam.
3 2 -2 0O 0 2




